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1. Introduction
Applications that are running over SCTP can be identified based on the SCTP port number, if a standardized SCTP port number (assigned by IANA) is used. When a standardized SCTP port number is not used, then the SCTP Payload Protocol Identifier (assigned by IANA) can be used to identity the application.
Having a standardized port number or a Protocol Payload Identifier (PPI) value is extremely useful for technical support and analysis of issues reported from field deployments. For example, for packet analysis using protocol analyser tools (e.g. Wireshark), the SCTP protocol stacks use port and/or PPI to decide which transported protocol to apply. If there is a protocol registered based on the SCTP PPI, then this registration takes precedence. If there is only a registration based on the SCTP port number, then this one is used. When the application does not use a standardized port number or a standardized SCTP PPI value, manual configuration must be done (e.g. through Wireshark "Decode as" option) to decode the protocol dump. This will create significant problems for product test, field deployments and customer support engineers in performing protocol analysis and trouble shooting of interface related issues.
2. Reason for Change
This paper proposes to add a requirement in the TR 29.835 to ensure that any newly defined SCTP interface/application has at least either the port number or the SCTP Payload Protocol Identifier value standardized.
3. Conclusions

4. Proposal
It is proposed to agree following as a new requirement in the TR 29.835.

* * * * First Change * * * *
[bookmark: _Toc49766777][bookmark: _Toc51229983]4.x	Requirement #x: At least either the port number or the Payload Protocol Identifier value shall be standardized for new SCTP interfaces
Problem Statement:
Currently in 3GPP networks, each SCTP interface/application uses standardized well-known port for communication. Having a standardized port for the application is beneficial in many ways. For example, it is extremely useful during analysis of issues found at product testing, field deployments and customer support and for packet analysis using protocol analyser tools. The SCTP protocol stacks in protocol analyser tools use port number and/or SCTP Payload Protocol Identifier (PPI) to decide which transported protocol to apply. For example, in Wireshark, if there is a protocol registered based on the SCTP PPI, then this registration takes precedence and if there is only a registration based on the SCTP port number, then this one is used.
Given the current situation that we are in, due to the extremely restrictive stand taken by IANA in port number assignment, 3GPP is looking at alternative solutions for the port number allocations, which includes possibility of dynamically allocating the port numbers through OAM or DNS based solution.
Using dynamic port numbers while defining new SCTP interfaces will directly impact and create significant problems for product test, field deployments and customer support engineers in performing protocol analysis and trouble shooting of interface related issues. For example, the port number shall be now manually configured in the protocol analyser tool, for it to be able to decode the protocol dump. This will become an even bigger issue if there are multiple instances of the interface/application deployed in the network and each instance is using a different dynamic port number.
One way to address the problem created by dynamic allocation of port numbers is to standardize the SCTP Payload Protocol Identifier value for each new SCTP interface defined by 3GPP.The Payload Protocol Identifier can be used to easily identify the interface/application when the interface/application is not using a standardized or well-known SCTP port.
Standardizing the SCTP Payload Protocol Identifier for each new 3GPP defined SCTP interfaces will ensure that we are able to use a solution to dynamically allocate port numbers for an interface while still protecting the best interests of product testers, field deployment engineers and customer support engineers.
Requirement:
The selected solution shall ensure that a newly defined SCTP interface/application has at least either the port number or the SCTP Payload Protocol Identifier value standardized.

* * * * End of Changes * * * *



